	4 sets of 4
	

	
	Kim has 4 baskets.  Each basket has four apples in it.  How many apples does Kim have?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	4 + 4 + 4 + 4

	4 x 4


	3 sets of 4
	

	
	Katie walked for 3 hours.  She walked at the rate of 4 miles per hour.  How many miles did Katie walk?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	4 + 4 + 4 

	3 x 4


	2 sets of 4
	

	
	Emma Li planted 2 rows of trees.  She planted 4 trees in each row.  How many trees did Emma Li plant?

	◙
◙
◙
◙
◙
◙
◙
◙

	4 + 4

	2 x 4


	5 sets of 4
	

	
	Noah has 5 sets of baseball cards.  Each set has 4 cards in it.  How many cards does Noah have?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	4 + 4 + 4 + 4 + 4

	5 x 4


	4 sets of 6
	

	
	Emma Li has 6 bracelets.  M’Shae has 4 times as many bracelets as Emma Li.  How many bracelets does M’Shae have?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	6 + 6 + 6 + 6

	4 x 6


	2 sets of 2
	

	
	In his first game Mason scored 2 runs.  In his second game he scored twice as many runs.  How many runs did he score in his second game?

	◙
◙
◙
◙

	2 + 2

	2 x 2


	3 sets of 3
	

	
	Noah made 3 shots in his basketball game.  Each shot was worth 3 points.  How many points did Noah score?

	◙
◙
◙
◙
◙
◙
◙
◙
◙

	3 + 3 + 3

	3 x 3


	3 sets of 5
	

	
	M’Shae has 3 nickels.  Each nickel is worth 5 cents.  How many cents does M’Shae have?

	◙
◙
◙
◙
◙

◙
◙
◙
◙
◙

◙
◙
◙
◙
◙


	5 + 5 + 5

	3 x 5


	6 sets of 3
	

	
	Mason bought 6 erasers.  Each eraser cost 3 cents.  How much did Mason spend on erasers?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	3 + 3 + 3 + 3 + 3 + 3

	 6 x 3


	2 sets of 5
	

	
	There are two swing sets on the playground.  Each swing set has five swings.  How many students can swing at the same time?

	◙
◙
◙
◙
◙

◙
◙
◙
◙
◙


	5 + 5

	2 x 5


	3 sets of 2
	

	
	Katie has three pairs of Barbie shoes.  How many shoes does she have?

	◙
◙
◙
◙
◙
◙

	2 + 2 + 2

	3 x 2


	2 sets of 6
	

	
	Ann bought 2 packs of juice.  Each pack had six bottles of juice in it.  How many bottles of juice did Ann buy?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	6 + 6

	2 x 6


	5 sets of 5
	

	
	Sally has 5 packs of gum.  There are 5 pieces of gum in each pack.  How many pieces of gum does Sally have?

	◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙
◙

	5 + 5 + 5 + 5 + 5

	5 x 5


